Calculus I



Hmwk: Writing Equations of Lines and Function Composition

Determine the equation of the line with the following characteristics.

1)  Passes through (4, -9) and (2, -7)


5)  y-intercept of 4 and an x-intercept of -2

2) Parallel to y = 6x – 7 & passes thru (3, -2)

6) If kx + 5y = 10, find the value of k for

3) Perpendicular to the line thru (-2, 6) &

    each condition given.

    (2, 8) & goes thru (-4,5)[image: image1.wmf]3
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    a)  m = 10

b) passes thru (3, 6)
4) Parallel to the line through (-2, 6) & (2, 8)

    c)     
d) parallel to -2x+5y = 10 

    and goes through (-4,5)    



    e) perpendicular to -2x + 5y = 10


Function Composition
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2) Given the functions, perform the operation or composition and simplify the answer.
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3) Given 
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, find and simplify the expression 
[image: image14.wmf](

)

(

)

gxhgx

h

+-

.

Calculus I



Hmwk: Writing Equations of Lines and Function Composition

Determine the equation of the line with the following characteristics.

1)  Passes through (4, -9) and (2, -7)


5)  y-intercept of 4 and an x-intercept of -2

2) Parallel to y = 6x – 7 & passes thru (3, -2)

6) If kx + 5y = 10, find the value of k for


3) Perpendicular to the line thru (-2, 6) &

    each condition given.

    (2, 8) & goes thru (-4,5)[image: image58.wmf]1

2

=

m





    a)  m = 10

b) passes thru (3, 6)

4) Parallel to the line through (-2, 6) & (2, 8)

    c)     
d) parallel to -2x+5y = 10 

    and goes through (-4,5)    



    e) perpendicular to -2x + 5y = 10


Function Composition











5) [image: image59.wmf]1

æö

=

ç÷

èø

f

t

Given the following function 
[image: image15.wmf]3

()24

fxx

=--

, find the requested function values.

a) 
[image: image16.wmf]3

(2)

f

-=



b) 


c) 
[image: image17.wmf](2)

fm

-=



d) 
[image: image18.wmf]3

(2)

fx

=


6) Given the functions, perform the operation or composition and simplify the answer.
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